EARAROBREBRT —5 XN—ZXBISH—F

2022512818 (R 13EEH4E

B9 2% 5 4L YSR 2% \ (Xfg] 2 \ (Emm - | 5 600N ME
[AE<] 1 7% :500,000 § ~ 27#%&:150,000 @ ~ 3#:75,000 @  4#&:50,000" / 57 :25000 F
EHERE BERS, I HE | BE (8 |91L (BE) | mEIE | L3F |8 | A\x | A= | BE6 (e / Bt / tEns
15| 5 |1y ewhOy o2 | BEES 50.4 22 369 - | 1 | 3% %{K%— ()
. — SKE
RALK GUYTFYas “) €O |\ Ex
SaERY— 4 2 g‘x‘zﬂg‘lE (50.5 3-3 3.9 - 2 442 ﬂﬂjﬁﬁgﬁ (FE#)
= : 172 SR/
RV PYNARE— B:Z1PISVS ) QR =
~/ /% n ~ % 2 | EE=Et 50.6 1-1 7.2 — 3 393 | HEEET (SEHL)
R vy 757oE- 0 e | @y
: SH = yRSwT - T7—LA
KTt TAE X i 2 gl%ﬁi 5(13.)2 5-4 7.2 - 6 | 4 ﬁzg})mj (%"A)
. = h— 7
RINZ—N\IVR BRIty /<A (=3) A L
H_—F 2 | fras 51.6 6-6 |37.0| — | 5 | 304 |PEEEF &
: %) 3 @) K—2T7
RYFVUEYYISY BiORrY O | a@at T25477—4
1I—tBAI=FR ® 2 | BAES (51.9) 45 [383] — | 4 | 43 jﬁﬂﬂééﬁ% (SH)
= : 1172 ;
RAI—RSTY BAYTA=F A5 O %m o
® 1—F—BEBIEfI
10—7+—
20—F—
IT=5r= 4,5,6,3,2,1
43—F— 4,5,6,2,3,1
o ILRE
BB 5 160 JA R 5-6 110H B E 5-6 130 3EE 4-5-6 150
g B 5 1104 4-5 1504 =51 5-6 270M 3EH 5-6-4 480
6 1004 4-6 150

ABIC OV TRUTEREERRODDZE. THRIIZEL.




